

NAME: OKON, ESTHER STEPHEN

MATRIC NO: 19/MH501/321

DEPARTMENT: MBBS

QUESTION 1

$$\int \frac{11-3x}{x^2+2x-3}$$

$$\frac{11-3x}{x^2+2x-3} = \frac{11-3x}{(x+3)(x-1)} = \frac{A}{(x+3)} + \frac{B}{(x-1)}$$

$$\frac{11-3x}{x^2+2x-3} = \frac{A(x-1) + B(x+3)}{(x+3)(x-1)}$$

$$11-3x = A(x-1) + B(x+3)$$

At $x=1$, We have

$$11-3(1) = A(1-1) + B(1+3)$$

$$11-3 = B(4)$$

$$8 = 4B$$

$$B = 2$$

At $x=-3$, We have

$$11-3(-3) = A(-3-1) + B(-3+3)$$

$$11+9 = A(-4)$$

$$20 = -4A$$

$$A = -5$$

$$\int \frac{11-3x}{x^2+2x-3} = \int \frac{2}{(x-1)} dx - \int \frac{5}{(x+3)} dx$$

$$\int \frac{11-3x}{x^2+2x-3} = 2 \int \frac{dx}{(x-1)} - 5 \int \frac{dx}{(x+3)}$$

$$\therefore \int \frac{11-3x}{x^2+2x-3} = 2 \ln|x-1| - 5 \ln|x+3|$$

QUESTION 2

$$\int \frac{4x-16}{x^2-2x-3} dx$$

SOLUTION

$$\frac{4x-16}{x^2-2x-3} = \frac{4x-16}{(x-3)(x+1)} = \frac{A}{(x-3)} + \frac{B}{(x+1)}$$

$$\frac{4x-16}{x^2-2x-3} = \frac{A(x+1) + B(x-3)}{(x-3)(x+1)}$$

$$4x-16 = A(x+1) + B(x-3)$$

At $x = -1$, we have

$$4(-1) - 16 = A(-1+1) + B(-1-3)$$

$$-4 - 16 = B(-4)$$

$$-20 = -4B$$

$$B = 5$$

At $x = 3$, we have

$$4(3) - 16 = A(3+1) + B(3-3)$$

$$12 - 16 = A(4)$$

$$-4 = 4A$$

$$A = -1$$

$$\int \frac{4x-16}{x^2-2x-3} = \int \frac{5}{(x+1)} dx - \int \frac{1}{(x-3)}$$

$$\int \frac{4x-16}{x^2-2x-3} = 5 \int \frac{dx}{(x+1)} - \int \frac{dx}{x-3}$$

$$\therefore \int \frac{4x-16}{x^2-2x-3} = 5 \ln(x+1) - \ln(x-3)$$

QUESTION 3

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{(x+1)} + \frac{B}{(x-2)} + \frac{C}{x+3}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

At $x = -1$, we have

$$2(1) - 9(-1) - 35 = A(-1-2)(-1+3)$$

$$2 + 9 - 35 = A(-3)(2)$$

$$-24 = -6A$$

$$A = 4$$

At $x = 2$, we have

$$2(4) - 9(2) - 35 = B(2+1)(2+3)$$

$$8 - 18 - 35 = B(3)(5)$$

$$-45 = 15B$$

$$B = -3$$

At $x = -3$, we have

$$2(9) - 9(-3) - 35 = C(-3+1)(-3-2)$$

$$18 + 27 - 35 = C(-2)(-5)$$

$$10 = 10C$$

$$C = 1$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \int \frac{4}{x+1} dx - \int \frac{3}{x-2} dx + \int \frac{dx}{x+3}$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = 4 \int \frac{dx}{x+1} - 3 \int \frac{dx}{x-2} + \int \frac{dx}{x+3}$$

$$\int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = 4 \ln|x+1| - 3 \ln|x-2| + \ln|x+3|$$